THIFE IXRZMBEFE BEER REABRKA VAKX

D MAvhiE15, 10, 8, 5, 3, 1&£55,
Q@ RAREBEHOEROLUERET D
Q@ FBEHOFRIOVT, RIBVZIALUELEOEREDMFLEDIOEI SV LORS Y FEBHD
FEHENO & 5 ZEAENO £ % Points EHENO & 5 /N0 % % Points
1 71 s i a B W 8 215 [MREEGEELT a 3 #%& 15
101 | RERE (£T15) b | 2 B | 3 216 IR ER R L 2 5
a | =EBFEHE| 15 217 [z EGEELT a 10
(0o |BEIYs—1 b | &E%E | 8 218 |Re E iR B L a | 2 # | 15
(£T1% - #HR) c BFE 5 219 |[ENEERELSHERET| a 8
d (523 3 a 1 #& 10
103 |##k CADRE(2 T 1) a 3 220 |BE -SHESE LT b 2 5
104 |CADF| BB MrE a 2 & 3 c 3 & 3
a 2 #% 15 a 2 % 15
105 |HgereE (BMnI) b 3 & 10 221 |BLEGRELT b 3 & 10
C |=oBommmTE o) C 4 #& 8
B = a 2 #%& 15 a 1 #& 10
106 |%AERiE (@RRALE) b 3 ® | 10 202 |5 SR b 2 % | 5
107 | v —FFT a 3 #& 10 c 3 & 3
108 [ AV VIV UEELT a 3 #& 10 223 |[L—45—HBIEHERET| a 3
109 ?%{L—E)bé‘/ﬁ‘/%ﬁi a 3 #%& 10 a 1 & 10
110 [(AEIRERTE a N K 8 - - b 2 % 8
1 1 H 2 BERERT . B 3 224 | 7R F o7 EEEHL S @ 3
AR REE MR a HFEP 10 d 4 % 3
112 | (USFBET—Y) b B 5 3071 |EA BRI E Rk a 15
Xab D WTIZHEMFEIZopME | ¢ EEZS 8 302 [ I T/RARAR— FRE&E a 15
AEEREE MR a EMP 10 303 [IcAERBEMERRE a 15
113 | (USHBEAZE7—7) b =P 5 a 1 & 10
Xab D W TIEEMHEICEpME | ¢ HA 8 304 |1EHmiEMRE (£IH) b 2 ik 5
AR REE MR a HFEP 10 c 3 & 3
114 | (J I SRTU LA b B 5 SR YIE a b 1 # | 10
Xab D WTIEEFIEEI5pME | ¢ HE 8 £ R A28 b b 2 #& 5
s I g 21*32 g&g 135 305 |IEHmAIERE 7D23ﬁ;% 3 p ; % 150
SN PN EHED 7075421 o) ;
(*i) E $$4 >4 Tﬂﬁ c INBAE - NRIR A S 3 e 3 ﬁ\)& 3
116 |7— 27588 (BR%E) a BT 3 =HEH a h 1# 8
117 [ XBEEFEE a 15 R B2 b h 2 #% 5
a - 8 306 |EHLERREGE FTE3MR c h 3 & 3
KYK A4 | N-2FEBFS b AS 5 (esmmnmREEn | T -AN-AT1HR | d d 1 #% 8
118 avog—I)L C Ilﬂi% 1 7_'\"9’\“'Z2:ff‘& e d 2 fﬁ& 5
d B 5 T -AN-Z38k | f d 3 # 3
NEEFICME | A-2FERPY e AE 3 a 1 #& 10
f Hig 1 307 XY OV EERTE b 2 % 8
201 |BRLHT 2 i@ [ 15 (PATRERBRS & UPR) | o 3 #% |6
XablTDWTIFWARE b 2 & 10 d 4 % 3
202 |ERFEHIME a 3 & 15 a 1 #& 10
203 |ERTITEETIHMGERE | a 2 & 15 308 |/XY O VR BEARE b 2 % 5
a | =BFEIE| 15 c 3 #%& 3
204 WOy —IL b =EBFE 8 CGERR b |T¥x/s—K| 8
(£I%:BELR) c @i?%% 5 309 ;J;I‘w‘):? i c R—L w4 5
d 1 3 & - N e |[TF¥RN—HK| 8
205 |BEERE a | 2 @ |15 RIS T TR up [ b
EFRkIRAET) b 3 #& 10 FLTHL b |T¥x/s—K]| 8
00p [XEERE a K 15 310 |CGZUT A% AR 1B ERFT c | R=ws [ b
(BEMBMET Y —7 > X&) b 3 #%& 10 BE WEBTH1> | e |[ZF¥A/NX—FhK| 8
a 1 & 15 i f N— w4y 5
207 i%?ﬁ%?m(%?%g;w\ b 2 10 31T |RILF AT 4 FIRE b _THAN—b 8
' ¢ c 3 = 8 T ~ c | ~"—vvys | 5
a 1 & 15 319 T4 99 THAUKRE| a 2 8
208 | IL=EEE (AFE) b 2 B 10 (DT P#E) b 3 #& 5
c 3 i 8 DA a =B 10
200 |AT - DDRATE ) 15 | |40 | (A mEmEmSRS) [ | & % | 6
XZELEEDIZERD XEEEICNE c £ 1E 5
210 |BER B EFEEME a 15 a 1 & 10
| ER s = a I 7 8 _ L A = b 2 b 8
211 |AVIEHRE e 402 | kL — A BBERE c | 3 @ |5
T a I =7F 8 d 4 R 3
212 | £EXE b |7 FAq19—] 8 2 1 4% | 15
a 2 % 8 ) i ks o b 2 % 10
213 |5 U4 - BBEIERE b |3 % | 5 403 |L & v T RRERE c | 3 #& |5
XH28EFEE L Y K1k c 4 % 3 d 4 & 3
a 1 & 10 404 [N EmREREE (BHIEB) a BT 3
—ae e s i b 2 1k 8 405 [#HEHAEMO-7)EHNHE) | a [ 3
214 | T4 2 S EATRE : 3 % | 5 106 |BofrEs (BARE) 2 BT 3
d 4 3 407 [AIET - HELE a 15




FEXENO & 5 ZEHRNO £ % Points EHENO & 5 ZHENO % % Points
Bk e e i 3 1 #% 10 607 [MEBHRX L— @k (RaEER) | a BT 5
408 | RIS BARIRTE b 2 % | 5 BEHE1 tLEG LS
409 | 2B EARBIEEEMRE a 15 608 REBRAERXY L—2 8 (KREEE) a BT 5
410 [ 2HETEHIEHZMRE | a 15 sL—y EH%E) RLWES txE| b 5 3
411 [ 2 EREEIEEEMRE a 15 609 |EH I+ HAERE : BEAE T UL a BT 5
= m e a 1 & 10 WA BLEE R b BT 3
412 ?:Elﬂ*‘l_t@—jj?_gﬁﬁ b 2 & 8 610 |ZA—4 ) T K |sesmz: mrmst o P) BT 5
E xE c 3 & 5 HRHE  BAHE | AR b BT 3
3 |AoT07a—F4%—5—] a 15 611 |e0mORRRS <FABENEE| a BT 5
414 [2 BEFHIEEBRMBRE | a 15 a 1 % 15
b Avp U et ey 2 B L1810 e |aEwmee Qogm) o2 # 10
416 [ AT—a—T 4 *—42RBRE b 3 8 q I 3
Il S == a B & 15 a =BEFE 10
T | RERRRRREES b |z @ |10 513 [BEEHA - 717 7av 72D E%*;# 8
18 RRATE E %iz_\gi% 180 690 | zDfthDiAEiRE KERERERE g 2&1/;& 135
d |BXRLEEE| b peRE e " 3 % 10
s T 2 EEEE 15 601 |z0ROBAKE XEBEBEAWE| 2 BT 3
419 |HEATEERSFR b | ®B%E | 10 2 2 W |15
BEELET R SR 5 b ED 3
- = 701 |EEERE '
a 1 % 15 c 3 #%& 5
420 | BRI RASFRIRE I o2 e O EmEE
d EEE 5 702 | RV EERTE b 2 & 3
421 |ZELAILO : ?gfiéji 180 : %1% 110
E%E&E‘I’?ﬁﬁi% C HE, ABELRE 5 703 %Fﬁi&ﬁ_ﬁ$§l_\b*ﬁﬁ b 2 :%& 8
100 [BESMANACERENEAS | a EAE 5 TIXEERE c D 4, 5
SEEZER s | &8 | 10 d 1 S & 3
ERR IR E a H & 15 704 |BXREFEENRE c 24k 8
501 | X RERERE b Z & 8 d 3 #%& 5
LEBEI1BEOHANE c |zm2-BxuamE| 3 e 4 % 3
502 [EREHSKREAER (ecoRE) a 8 a 1 #& 10
a B & 15 705 |ERERE b 2 #& 5
b 13 10 c 3 % 3
504 | AERHIEEEZE a £EH 15 PII M AR B 3k g s 3 %% 3
505 |EWBIMERERSE a l 15 E | EBYaHk h s 4 #%& 1
506 |ZEH 2 MisEeEmE E Zg%tg% }g 707 |evazazazr—racne @ED) 2 . 135
507 |BlAREEEAE (AT a BT 5 801 |HEREEeE AR b BEE 10
508 |REEFHEEEREEE | a BT 5 c Hi5 8
(BReEE) a =EBF 8
509 |AfRfEEXTESE (BeEaEE)| o BT 5 901 [3DCADZO XY FTHA v b AE 5
BREEFEE (BeEER) a FHEES 15
511 | 7a2xz o FJAIILER a : 1 902 [T bOVTRAR B b BFHFTFEEE| 10
= — e a 2 #%& 15 c ERE BHHEZENS) 8
512 |EfetRE (IEZE9HT) b B 0 . TEEE 1E
a 1 % 10 903 |FHa1 T raVYTFRMN b |EFHEFEEE| 10
= b= A = b 2 %& 8 c BHEE G HESETR) 8
601 |FtEHMRE (2I) c 3% 3
d 4 % 3
602 |emmaza— @ |0 | RASEME |3 . T
o | & [ Q7 e o (N
603 |FTEHMEER KRS b BAAAE 5 = . N
T N £ E (60PointsLl k)
] a 2 | 10 e, .
604 | TREHEME o3 s ERE (40PointsL E)
C 1
N IUEPETA a B B 8 =2 i >
605 |WBXa. mkK2. 2E[ b | A B |5 FAEZ (20Pointskl L)
KEEIZME c H 35 1
a 1 & 10 k /
. b 2 % 8
606 |EY R AXEEHRE o T % 3
d 4 3




